OCTOBER 2012 U/ID 31602/UCHB

Time : Three hours Maximum : 100 marks
SECTION A — (40 x 1 = 40 marks)
Answer ALL the questions.
All questions carry equal marks.
1. The important paddy cultivation region is

(a) Australia (b) South Africa (¢) South west Europe (d) South
east Asia

WpsEwwrer Gme sm@ gL GrCseb

(=) avdGrelwr (=) Cseremmiflgsr (@) Gser Gong
Crmiur (/) Cgen &lpd@ pdlwm

2. Kerosene oil is an example of
(a) Vegetable oil (b) Mineral oil (c) Essential oil (d) Natural oil

L0 687 o) 6T 65T o) T LI GG 2 FTTETLOMGLD

(1) smeuy cravrGentis (<) saflb eravGenrs (@) SeuSlwiomer
erarlemris (rF) @wihHens eTeuTlewTil
3. Adam’s bridge is between

(a) India and Sri lanka (b) India and Afganistan (c) India and
Pakistan (d) India and Bangladesh

9D LITELD & D@D @an_Guw
2 _GTeTg)
(=) @bsur - Qomens () @QbHur-  ylisretevgmer

(@) @pdur— undlevsmen () @b — ubsaTTCHFLD
4. The most densely populated country in the World

(a) China (b) Vatican city (c) Macau (d) India

2 flCCw flsb &S CFle| CgmamT B

(o) o (=) aumgser Silg (@) Qwsm (FF) QBT
5.  The first nuclear power plant was established in

(a) Maharashtra (b) Madhya Pradesh (c) Rajasthan (d) Uttar
Pradesh

WPBET (PSedled DemIFsHE Blenawid LSS L @)L 1D

(=1) wempraygyr () wHHw KGpGssid (@) Guregavgma
(/) 2.58lr 9pCaaid



10.

11.

12.

Which one of the following is a oil refinery?

(a) Koyali (b) Alang (c) Gurgaon (d) Bilaspur
EpsarTLcudmET 6rg) eTarTOlanTil &S ML Hlapauwiid

(=) Casmumed (=) e (@) @ramer (/) SemevLyT?

About 80% of the raw silk produced in India comes from

(a) Kerala (b) Madhya Pradesh (c) Karnataka (d) Orissa

@ndwureile 2 pusHurgd Ll (H mredled 80% Sl(mbg
2 pusHwundlmg

(<=1) Gaparm (<) SIHWLATCHsD (Q) sTHTLET (FF) e

Cotton yarn requires

(a) Dry climate (b) humid climate (c) cold climate (d) hot
climate

LSS QenpsE CoanauiL(h&mg
(=) eupewr smeoBlened () FILLSS STeblenad (@) @eoflm

srBlene (/) Geuliug sreblane

Largest number of tea estates are in
(a) Assam (b) West Bengal (c) Tamilnadu (d) Karnataka
9idlgere| Gullane eTevGL L &6T HebglaTer LGS

(=) <emd (<)) Cone eunisterd (@) SWOID Br@H (FF) STBTLsT
Which country leads the production of copper in the world?

(a) China (b) India (c) USA (d) USSR

2 adled eTBF BT STl 2 HLSSHUdleL (pemement eudlsSmg)?

(=) arm (<) @bSHwr (@) AQwflss @madlu BrHser
(/) Camellwgreguim

Which of the following types of coal has the largest amount of
carbon content

(a) Anthracite (b) bituminous (c) lignite (d) peat

EpsarL Hlassifl cuamsuied erg Hsb smTL6T Sjarey Glsmeim_g)?

(@) wpsrens’ (<) G Bwaren (G) elsamaer (rF) 1§

Rubber is a product of

(a) Plantation agriculture (b) Mixed agriculture
(c) Mediterranean agriculture (d) Specialized horticulture
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13.

14.

15.

16.

17.

18.

pLILIT eTeTLIg) 2 HuGF Qummerm@h

(=) ComiLluareen Celermemend (<) sl Ceuermeirenio
(@) wsdwus sarss e Geuetnamens ()  Sloply CsrlL ssema
CeuermaRranto

Soft woods are used for

(a) Manufacture of pulp (b) Railway sleepers (¢) Dock gates
(d) Ship building

QeTrs mIGET &M@ LwerL(hélemmen

(=) ardlzs sap 2nusd (<) @ruild urens LBGms Nl gseT
(@) LraCsliev (FF) sliLied HL(Hgeb

Bolivia is an important producer of

(a) Iron (b) Tin (c) Cocoa (d) Oil

Qurgyeiwim (p&dlw 2 HUSSHWITETIT 4 GLD

(@) Bobusssl (<) ss1b (@) GanéGan (w) cranQami
The most densely populated Island of the World is
(a) Srilanka (b) Iceland (c) Java (d) Peurto Rica

2 @dld s Ps sseTLTHH CaraL Sey G

(=) Qaoniens () gpeverng (@) greur () Wy GLrilar
About 80% of the gas is consumed by

(a) UK (b) USSR (c) Canada (d) USA

80 #g6lldlg erileumujenel BIsHLD BT(H G

(=) @mdlonbg (<,) Corellwg raswr (@) sarm () 6whés
&EW B

Which one of the following is the tropical grass land

(a) Taiga (b) savannah (c) pampass (d) prairies

EpsarTLcuDMIET 6TE Sjwemnar_e Ld6euaf Fleoid

(=) wLam (<)) geurart (@) umbumrev (FF) GGFM

Manchester is popular in the World for

(a) cotton industry (b) woolen industry (c) silk industry

(d) pulp industry
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20.

21.

22.

23.

24.

2 dled rerblFavL T D@ U TETg)

(=) umsd Cpseurene (=),) swbuells Csmfibsmae (@) ULHS
Qamflherene (/) sTélss smip Qgmfhamene

Which of the following is the most densely populated part of
India

(a) Deccan plateau (b) Ganga valley (c) Brahmaputra valley
(d) Eastern ghats

&la'pam'zfrl_@_lﬁ)@m o7&l @bSlLimelledr fssserLisd GamanrLi@d?
(=) sdamaw SLyll (<) shos uderstag (§) Wrwuygdym
LGTeTSsme@ () Slipd@ (gmm&s weane

What should be the minimum growing period for wheat

(a) 100 days (b) 150 days (c) 200 days (d) 50 days
Camglenoudlen GanmBbESLLEF QUETTL(HEUSSTELD cT6Ten?

(=1) 100 priser (<=3) 150 priger (&) 200 priser (rF) 50 Brlser
Which one of the following is a conventional source of energy?
(a) Geothermal (b) hydropower (c) solar (d)wind
EpsarTLcuDMIET 6T (pamwirer eTlFéd) smTLD?

(<) el Qo 558 () B Ber 8 (@) GMw 568 () smppy

The industries which produces raw materials

(a) Consumer goods industries (b) cottage industries (c)basic
industries (d) agrobased industries

epeliGummLsamer 2 HuGS Qaiub Csmhharenaser
(@) mesrTdurmersamear swWris@ED QsmDsTmasdr () Glqnss
Qampler Csmfihgmameaser (&) qliumLg CAsmlbarameser ()
CeuarmairenLo QummeT &g QFTOHFTEEET

Rhine valley of France is famous for

(a) Zinc (b) Copper (c) Nickle (d) bauxite

prenfleren  enper  LIGTETSHSTHS, sSM@ Cuwr
@Auppg)

(1) s8sBIaD (<) sTOFD (§) Hlése () ursamavl(H

Which of the following states have high urban population

(a) Orissa (b) Bihar (c) Maharashtra (d) Gujarat

4 U/ID 31602/ UCHB



25.

26.

217.

28.

29.

£|E'Qa;66'zfr|_ Il eBISEHET 678l 4SS BaIT &EE&ET (Hmans Cs e (heTerg)?

(o) gfler () et (§) waryreggyr (/) GQITH
India's biggest fish producing state is
(a) Tamil nadu (b) Maharashtra (c) Kerala (d) Andhra pradesh

@pdwreller oflseray e 2 HuSH GFiiuyb wrbleid

(=) sblp Bl (<)  sTFTEYIGTT (@) Gsrrerm
(FF) < BHTIGrCssid

Which one of the following is a not a method of fishing?
(a) Drifting (b) trawling (c) cutting (d) seining
EpsarTLeupmier erg) e 1919556 (pennHuIden?

(=) Wensemeu eueve (<) GCu@beru aueme (@) Fafdsmed
(FF) Limpm 6&e: @) (Uil euene

Which of the following is the discouraging factors of settlement

(a)Altitude (b) Flat terrain (c) existence of mineral resources
(d) specialized crops

Epsar srranilsErer ergl @ ulmrLgamer Lmdlddlermen?

(@) 2wpd (<) wlLwre HosGCsmmpd (Q) safl elarmbsefler
ugeued (rF) pddlwu uufliger

The excess of births over deaths per 1000 population

(a) Birth rate (b) Death rate (¢) Natural increase (d) Life
expectancy

<UD &s6T Agmanguiler @mlienu il Wil SiHswrs @ mrug)

(=) Yply afdlsd (=) @iy eHdsb (@) e a@wewwre
SSlaMiy (FF) aumpBIeETSTeLD

In settlement pattern the houses are built in close vicinity to
each other is known as

(a) Compact settlement (b) scattered settlement (c) dispersed
settlement (d) linear settlement

Giqudmliysaies aiHiaer eubourammd QBHSSOTE SeBHIIETET
G Ul mLIL uens

(=) euvlu Eyuilmly () uraera Gguiouy  (§) Asdlu
Gy () her Cursg Gyuimiy
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30.

31.

32.

33.

34.

Varanasi is an example of

(a) Administrative town (b) Cultural town (c) defense town
(d) industrial town

eumreTTsl SE MG 2 FTTETLOMGLD

(=) #liteuns BT () SISy BSID (@) UTEHSTIL BSILD
(FF) QamhHFTeney Ba&TLD

Which one of the following is not a characteristics of squatter
settlement

(a) physical (b) social (c) legal (d) economical
EpsarTeupmiar ergl Gal (@i udmLiGer LieTUD6 egds Ll L
(=) Querdls (<) seps (@) slLfwumear (/) CQurmerTsmy

Which of the following form of settlement develops along either
side of the road

(a) circular (b) linear (c) square (d) cross shaped

EpsarLcupmer grepasaiiar @) @rhisaflagid Comemmib @gudmLiy

GUIGGULD 6TG)?

(o) el augoud (=) BaCursE eaugeud (§) &7 algeud
() GDISEG uigad

Which one of economic activity is dominates in all rural
settlement

(a) primary (b) secondary (c) tertiary (d) quaternary
Srmolw @guimliyseaie erbg Qummeartsmy GFwe Ws (paéHwnrerg?

(=) @pglemenw (=)  GrewrLmbd  Hlena (@) eperpmd  Hleaned
(FF) BremsmD rbleney

Which one of the following country have the highest sex ratio in
the World?

(a) Japan (b) Latvia (c) UAE (d) France
EpsartL Br(hs@ner gl 2 wHCatu widls umd elldsb Qamear Br{H?

(o) suumer (<)  emgedlwm (@) o5du iy eriCrl
(/) Qymereiv
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36.

37.

38.

39.

40.

Which one of the following is not a push factor?

(a) Water shortage (b) unemployment (¢) medical facilities
(d) epidemics

EpsarTLcuDmIET 6TE 2 b ellenassmyanilicden?

(@) Bruupprés@eon (<) Ceuameularemn (©) WHSSHe cugdser
(/) Crmiiser

Iron is found in India in

(a) Uttaranchal (b) Uttar Pradesh (c¢) Goa (d) Kerala
@ndwureiléy @b sTaRliLBIb L@
(=) 2sdrmepge (=) 2 58rGrCsad (@) Cameur (/) Gayerm

Koyana hydroelectric scheme is in

(a) Maharashtra (b) Gujarath (c) Rajasthan (d) Madhya
Pradesh

Garwierm B Wler 68 SL1b SenobgidTeng

(1) wsmymeyq T (=) GRS (@) Qurgevgmar
(/) wsHWIGrCHed

Mirages occurs in

(a) Forest (b) Ocean (c) Mountain (d) Deserts

sreed Hir ComemmLd L@

(1) TS () FPSHTHSET () EPESET (FF) LITEHEGLGITBIGET

Highest density of population in China is found in

(a) Yangtze valley (b) Hoang Ho valley (c) Sikiang valley
(d) Tibatian plateau

Eamelled s wasarLTHH srewriL(Bb LGS
(=) wrké udets  sréE (<=4) CamreummiGar  LeTaTS5Ms S,
(@) Afurhudranggna@ (FF) HAug Ly

Nhava sheva is related to

(a) Cottage industry (b) Raw material (c¢) Shiva temple
(d) Sea port

weur Caaum 2 L GgmmyenLwg)

(=) Ggoss Gsmfe (=) epoliCumrmer (@) Heouer Csmalled
() gi@DpsD
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42.

43.

44.

45.

46.

47.

48.

49.

50.

51.

SECTION B — (5 x 4 = 20 marks)
Answer any FIVE questions.

All questions carry equal marks.
What are the sources of population data?
&&6ET Qgrens LDHlw eSleurmigafle LETIRISGET WTenel?
Briefly explain the factors encouraging settlement.
&gl mLiL Caremmeuans 2eré@&eill @ L0 sryantlsamer s(H&swns afleal.
Write a note on the problems of under population.
GoPHF WwaEHeT Ggrensulermmed gHUBD Grdsamenger LD @GDILL
T(LPSI5.
What are the forms of rural settlement?
Symosg Gull L sefler algeimbiser wrened?
Write a brief note on the urban morphology.
B&T 2 (Heusedlwed DMl &HSE0ms GHLIL 6T(ps)s.
Give an account on Medetaranian— suez-asiatic sea route.
WSS DTS — G — AW s eudl upml QsTELy Sms.
What do you understand by industrial inertia.
QamPperene Qewwnm seareno LiPM B Sidleug ereme?
What are the main reasons for declining pull of the coal fields to
industry?
Qazmfihsrene el gl Hlossiuler @ peians GamnbosneTen
SITTETRIGET WITEE ?

SECTION C — (2 x 20 = 40 marks)
Answer any TWO questions.
All questions carry equal marks.

Discuss in detail about the Problems of cattle rearing in the
tropics.

Sjwar u@duller sréd manl euerrlbgyeTer YrFgenansaner dlfeurs

elleumd).

Write a detail account on the main kinds of farming
organization.

CeuarmeirenLo jenioliLsatlen (p&slw alansger LMl ellifleurs er(ps)s.
Describe the reasons of migration.

@@L QuwTelssTer sryamhisamer 6fl6réEs.
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